K- EIEE

MPC40S

A b

Vs
PARTS LIST

1

A
o=

- PRS2tk



& ZHNCIRELUT

(1) BRFEXOHBE R, AHORBES - 23— S - HmAM - BEZ2LTHL
BT,

(2) FXHRmOERIEZTTEEA,

(3) WEMHELT., ZoMIESRKZEERBCEXT,

(4) HBEBCHBEHZRBILETOT, RPHCEHEIEVZT,

(5) MAZEZCLVEVRRTEN. ZLi22880H) FTOTHREES L
AD L, EEXBET,

®NOTICE (Reques for Customers)

( 1) Inplacing an order for parts, be sure to specify the index number in this liems and
the number of parts.

( 2 ) Return of ordered goods cannot be accepted.

( 3 ) Be sure to use the standard parts listed herein as repair parts.
Use of other maketed or similar goods often causes a deterioration of performance
and an earlier damage.

(4 ) Since orders for parts rush in during the demand season, earlier order are
recommended.

(5 ) Asin somo cases forms and dimensions may be different owing to remodelling or

modifications, order parts upon notting the model number.

J




C. N\2FIBEE&

D. O—%YU—h/— - BE@mAR

E. I>oY XN)VhAN—BEE

F. R =@k

G-1. FMAREFE AFA7

G-2. MOANZEE BILT

G-3. REKSLME DyAT

H. {tEmBEIR

@®r>> > GM132LN-39B

13

17

21

23

25

27

29

32







A. PRIy aro—AB&k

A& a—F&FS i fif # i Bt
A-01 | 149 5003 000 | P2 XAIVZa TV 1
A-02 | 149 5004 000 | FZ>RAIY YTV 1
A-03 | M40 3055 000 | ¥V R—=Iyar 1
A-1|149 5111 000 | Sy>¥aor—2A R 1
A-2 (149 5112 000 | Iy>r=ars—A L 1
A- 3| 149 0312 000 | ¥*Z7%—7#—2 H 1
A- 4 | M40 5153 000 | awVZ¥7X—uaY b 1
A- 5| MO7 0314 000 | ¥Z7&—my FF 3% 2
A- 6| MO7 0314 010 | 7 Z—av hA 3% B 2
A- 71 9SB 2500 000 | AF—NE— 5/16" 2
A-8 | 9ST 0302 003 | PV E> $3x20¢ 2
A- 9| MO7 0313 001 | 72—y haunNyFr 4
A-10 | 9SW 1000 003 | 78AHH A M10 4
A-11 [ ONT 1000 013 | +¥ b MI10 P1.25 1
A-12 | 149 0311 000 | 7 &2—=T#4—2 L 1
A-13 [ M40 0135 000 | ¥*Z7R—m v} B 1
A-14 | M40 3313 000 | 7 R—=T—A 1
A-15 | 9OR 1200 001 | OV >Z P-12 1
A-16 | M40 5159 001 | @—&X ) =T R—=T4—7 1
A-17 | M40 5160 000 | ©v b 1
A-18 | 9OR 0900 001 QY7 P-9 1
A-19 | 9SP 0402 004 | AF V7> ¢ 4x20 1
A-20 | M40 3711 001 |Hravanul 1
A-21 | 9BH 0602 003 | A bk M6 =20 ¢ 4
A-22 | 9SW 0600 003 | /3A3HH % M6 4
A-23 | ONT 0600 003 | +¥ k M6 4
A-24 | M60 0116 000 | Fav 2t 1
A-25 | 9BH 0601 473 | 7 THNVM b M6 x 14 ¢ 24
A-26 | ONF 0600 033 | 77T F v b M6 24
A-27 | 9BT 0801 603 | HKin b M8 x 16 £ 2
A-28 | 9SW 0800 003 | 23444 % ' M8 2
A-29 | ONT 0800 003 | +v¥ b M8 2
A-30 | 9OW (0816 160 | >—nWT V¥ ¥— 1
A-31 | 9BT 0801 003 | Anb M8 x 10 ¢ 1
A-32 | M40 3251 020 | A 2= —A L 1
A-33 | M40 3251 010 | A Z—5>—2A R 1
A-34 | 9BT 0601 603 | R/ b M6 x 16 £ 4
A-35 | 9BT 0601 403 | A bk M6 x 14 ¢ 4
A-36 | 9SW 0600 003 | 2sAHH % M6 6]
A-37 [ ONT 0600 003 | v b M6 7







A. PR

RtES| 2 —-F &S il fin # i HE
A-38 | 9BT 0802 003 | HKiu b M8 x 20 ¢ 3
A-39 | 9SW 0800 003 | 73AH A A M8 3
A-40 | M40 3252 000 | A235— 1
A-41 | 9SW 0500 003 | 2343 HH M5 2
A-42 | 9CR 0500 053 | F~ap¥ M5x5¢ 2
A-43 | M40 3258 000 | A > &= 7 1
A-44 | 9BB 6003 000 | R—n~x7) 7 #6003 1
A-45 | 9BB 6003 002 | R—nA_T VY7 #6003-2RS 1
A-46 | 9RC 0400 340 | @ —5—F = #40x 34 ¢ 1

/A-4? M40 3223 000 | a2 A7l v b 1
A-48 | MO7 0813 000 | 7/—V —AHTHH A 1
A-49 | 149 0821 001 | 7O X—Dr 1
A-50 | M40 5121 001 | F= Yo%k 1
A-51 | 9ST 0251 203 | VK> $25%12¢ 1
A-52 | 9FW 0600 003 | EZHH A M6 2
A-53 | 112 0361 000 | A4 Vv—7 1







B. PSR IwiarFrER

a-K®S

i fifl 3] i

i
Bl

&

B-10

B-11
B-12
B-13
B-14
B-15
B-16
B-17
B-18
B-19
B-20

B-21
B-22
B-23
B-24
B-25
B-26
B-27
B-28
B-29
B-30

B-31
B-32
B-33
B-34
B-35
B-36
B-37
B-38
B-39
B-40

M40
149

149

149

M40
M13
MO7
9RS
9RR
9BB

9BB
9sC
M40
149

149

M07
MO7
MO7
ONB
9SW

ONT
149
149
149
M40
M23
M23
154
149
149

149
gTP
149
90R
90S
154
154
G58
143
143

5155
0211
0212
0219
3222
0216
0213
2000
3500
6003

6202
3500
0130
0214
0215
0217
0313
0234
1620
1000

1000
0216
0217
0218
0131
0259
0224
0231
5210
5211

o214
0402
5212
1200
1218
0233
0234
2226
2214
2220

000
000
000
000
000
000
000
005
005
002

000
700
000
000
000
001
001
002
172
003

013
001
001
000
000
000
000
000
000
000

000
203
000
001
0500
001
000
000
000
000

B g o :

g 2 Fakry N XY
g—X2)—=25vF

APV IR

P AT

YA RISVFOIHFHI

AT IWHF

AFnFY x& S-20
ARF T = R-35
F—_7Y 7 #6003-2RS

=7V 7 B #6202
y—IFrvS

Ve

2V I7F%

280 HT—

PHA A

7 &=y ka3URYF A
FOMT¥Y7ZRIVRVFY (V)

== RARTY T NB-162017
ISFYH R M10

Fv b M10 P1.25
AVE/E e

IS TR AT

IR PZ2H7— B

b B A a8

Yy s ¥r—

v¥7via B

SEXFEET

o gl s

2S5wF72x—2¥+7 b (L)

B WF Tk

e e B S d4x22¢0
259F74—=2% 7k (R)

oy P-12
A4 W= VC-12185
2 FUEEY

FhATs

YA RIZZVFINZDT

Z v ANy Tray

ZpwA )  FFaY

et e B et et e et et = DD o O O O — — B T - T S S e

PO DO B — B DD — oD







B. SR IwiarFVER

HHES| 2- K ES ® & &% HR =
B-41 | 9SB 1250 000 | 2w %= 5'/32 36
B-42 | M81 0221 000 | ¥4 K25 vFE K53 2
B-43 | 9BB 6205 000 | K—IRTY ¥ #6205 2
B-44 | 9RR 5200 005 | RFv 7Y > R-52 2
B-45 | 90S 2552 1208 | 44 > —i TCX6-255212 2
B-46 | 9RC 0400 660 | I —5—F = > #40 % 66 ¢ 1
B-47 | 149 0221 001 | 2AD 2 1
B-48 | 9BB 6205 000 | R—m7 ) > 2 #6205 2
B-49 | 9RR 5200 005 | AF v 7Y »% R-52 2
B-50 | 90S 2552 1208 | 44 L= TCX6-255212 2
B-51| 1110149 000 | ¥ oo %xy T 2




C. \2>FIBE®




C. N\N2FIVER

Lt

a—F&E

#

i

=
il

%

% Tl
W 0o — O U o LD N —

(I"jC'J

Gy €Y 6
(R R R

o0
=

61
Y c-12
C-13
C-14
¢-15
C-16
C-17
c-18
C-19
C-20

C-21
22
C-23
C-24
C-25
C-26
C-27
C-28
C-29
C-30

C-31
C-32
c-33
C-34
c-35
C-36
C-37
C-38
C-39
C-40

149 0611
98T 0702
9SW 0700
INT 0700
149 5613
9BT 1212
9Sw 1200
INT 1200
149 5611
M40 0453

M40 0467
M40 0463
M81 2312
M8l 2311
149 5615
M40 0422
M40 0429
149 5616
149 0617
M40 0457

9NL 0800
E12 6013
9CV 1500
9BT 0501
9FW 0500
G86 0652
149 0820
124 0831
103 1012
9ST 0201

INT 0600
NP 0600
149 0816
149 6011
E14 6004
M08 1016
9ST 0161
M62 6634
149 0911
124 0831

001
003
003
003
000
503
003
003
000
000

000
001
000
000
000
000
000
000
000
000

003
000
001
003
003
000
000
000
000
503

003
043
003
000
000
000
503
000
001
000

NV RNVAYTZA R
A b

INFHEA A

Fw bk

NV R COMP
Hv b

ISIHH F

P

N Ry COMP
ATAPEHTF A

ATAFH % B
NV R AV TFY

b

bois el SUR £/ g0 e bl

R4 WF R rv—

PaghFaidlP4V—

NYEIaATFTAE Y
aAFA4 3o
A FOTA4¥—
INY RV Is—
Fa PR ATT—

vy 73y b

M7 %20 ¢
M7
M7

MI2x 125 ¢

MI12
M12

M8

BSWFUI—=TFT WY (Pavy B4 FU)

u D2SVE . SaV 78
ayhIErAvEI TS
v WA
NZENVTY T
Fa s VIN—
0WZ7) w7 (TH)
L WA

Ty

F vk
e = eVl
Fyrasddy—

>

$A4KITVFTAT—

A RZFZVvF LI -
LT aTES
AR

/7 HRINVE

Fr T LIN—
102770 w7 (7H)

M5 x 10 ¢
M5

¢18x ¢ 105xt16
¢p2x15¢

M6
M6

d16x15¢

ettt et Rt G G LAY

— e DD D e e e e

e e DY DD B B DY —

[ U N I o T o B o = T o - B




C. /\>RIVE&E

53
_,:;,:‘/ ; Fr .
|
U el
- QL Oy ]
-. . i
\I-“ y? \ |
31
N / 2 35
S 1

=1} =




C. N\N2FIVER

RHES

a—FK&H&

#k fi # i

e

o

C-41
C-42
C-43
C-44
C-45
C-46
C-47
C-48
,C-49
/ C-50

C-51
C-52
C-53
C-54
C-55
C-56
C-57
C-58
C-59
C-60

C-61
C-62
C-63
C-64
C-65
C-66
C-67
C-68
C-69
C-70

C-71

9BT 0601
9NL 0600
M40 5161
149 0912
106 0125
9BT 0604
9SW 0600
INT 0600
9BT 0601
149 131%

3

S78 1256
FR3048A
E12 3005
E35 0501
111 1323
9BT 1002
9SW 1000
9FW 1000
ONT 1000
M13 1754

8MA 0462
M81 0619
M54 0618
M83 0618
8MA 0007
8MA 0155
8MA 0149
8MA 0026
8MA 0471
8MA 0472

8MA 3220

075
003
001
000
000
003
003
003
803
000

000

A20
000
000
003
003
003
003
000

000
000
000
000
000
000
000
000
000
000

000

gHA 129 ool

ayhIZT7FYFRAFZY M6 =10 ¢
awv 7+ b M6
FrIHAR

Froorii— (a—F1)—)

Yagrav =AY &

A b M6 x 40 ¢
JSRHEH R M6

+v b M6

A b M6 x 18 ¢
T4 YRRXTA—F

AQy h74Y

ANYT AL OF

AR

Zawy hvprs—

N—RRZYYT 6

Ak M10 %20 ¢
ISZHH F M10

L ZYH % M10

e g B M10
2= PA > ZAVEAY

Yaage—Z
YarsSvFv—7
NYRNVTauhve—7
NYRWVAHAL ROT—2
29 FVvI—Fauq4v—7
VAL aFavfe—2
FA YRR I—T
Vrs—yotfe—2
FroVv—7
a—XVFrov—7

AR
o7

—_ e DN bt e b e e e

— et e e

et et e ek ek e ek e




D. O—%YU—h/N— - E&GERF

38 39 47 40
e




D. O—%YU—h/\— - BBk

RES| a—F&S it fi # i B [
D- 1 | M40 6122 000 | E—L4 1
D- 2 | 9BT 0805 503 | &b M8 x55¢ 1
D- 3 | 9BT 0805 003 | An b M8 x 50 ¢ 1
D- 4 | 9SW 0800 003 | 7S5/ 4 M8 2
D- 5| 9NT 0800 003 | =¥ b M8 2
D- 6 [ 9FW 0800 003 | Z¥H A M8 2
D- 7 | M40 5513 000 | A7 — 1
D- 8 | 9BT 0802 003 | R b M8 x 20 ¢ 2
D- 9 | 9SW 0800 003 | 73444 A M8 2
D-10 | 9NT 0800 003 | =¥ b M8 2
D-11 | M40 6138 000 |t Z—HA/3— 1
D-12 | M40 5514 000 | ZvT A A 1
D-13 | M07 0813 000 | 7/—Y AH¥HH % 2
D-14 | 9BK 0601 653 | 2sA¥YFFI b M6 = 16 £ 2
D-15 | 9BT 0801 603 | An b M8 x 16 ¢ 8
D-16 | 9SW 0800 003 | 7S M8 8
D-17 | 9NC 0800 063 | 7ZuaF ¥ |k M8 8
D-18 | M40 6114 000 | @—XY—A/,3— R 1
D-19 [ 8MA 0154 000 | @ =&V —Fa oA ~v—7 1
D-20 | 149 0512 000 | Zv I A B-L 1
D-21 | M40 3560 000 | ZvILAHx D 2
D-22 | 9BT 0601 603 | AN b M6 x 16 ¢ 2
D-23 | 9CD 0601 503 | #Z a4 M6 x15¢ 2
D-24 | 9SW 0600 003 | /A9 4 M6 4
D-25 | 9BT 0601 403 | A b M6 x 14 ¢ 8
D-26 | 9NF 0600 003 | 77> F v b M6 8§ | (v—H1
D-27 | M40 6113 000 | @—&Y—#43— L 1
D-28 | 8MA 3911 000 | RZLE—R—VDIV—7 1
D-29 | M63 0221 001 | ¥>Hor~v—7 1
D-30 | 8MA 3913 000 | Xw > > I¥r~v—7 1
D-31 | 149 0511 000 | ZVv I LA B-R 1
D-32 | M40 6140 000 | 7+ A b 3— 1
D-33 | 9BT 0805 003 | AN b M8 x50 ¢ 1
D-34 | 9NT 0800 003 | +¥ b M8 1
D-35 | 9SW 0800 003 | 784474 M8 1
D-36 | M40 5518 000 | 7P+ AP AT — 2
D-37 | 9BK 0601 453 | AN b M6 > 14 ¢ 4
D-38 | 9NF 0600 003 | 7Z > F ¥ b M6 4
D-39 | 122 0517 000 | 7+ AT —A 2
D-40 | M40 5521 000 | 7P+ A& 25 7KL b 1




D. O—4%Y—Hh/\— - BiiE®&

38 39 47




D. O—%Y—Hh/N— - BB

RES| a—F&FS i fin # oy £ it ] &
D-41 | M40 4503 000 | Y s3> L 1
D-42 | 8MA 0014 000 | #/s—F €Y EayTT—2 2

M D43 | M40 6131 000 | ZL T LAY 2
D-d44 | M81 2236 001 | aF 4452 L |
D-45 | M81 2237 001 | a5 4 #+2 L I

A D-46 | M81 2245 000 | AFY > ¥ 2
D-47 | ONP 0800 042 | F A4 m>F v b M8 4
D-48 | M81 2238 000 | 254 #F 2 2
D-49 | M81 2240 000 | aF A A#F% L 1
D-50 | M81 2241 000 | ##— b AL 1
D-51 | M81 2244 000 | ##— h B-L 1
D-52 | M40 6160 000 | TLFL— AL I
D-53 | M81 2248 000 | TLFL— | B-L 1
D-54 | 9BT 0601 603 | H h M6 x 16 ¢ 2
D-55 | 9BT 0601 203 | & M6 x 12 ¢ 4
D-56 | 9BT 0601 003 | s b M6 x 10 ¢ 2
D-57 | 9SW 0600 003 | /<4 % M6 10
D-58 | ONC 0600 063 | 7ZaFv b M6 10
D-59 | 9BT 0601 403 | v b M6 x 14 ¢
D-60 | 9FW 0600 003 | k547 % M6 4
D-61 | 9SW 0600 003 | /S3# 4% M6 4
D-62 | ONT 0600 003 | Fv b M6 6
D-63 | M40 4504 000 | Y Z23> R 1
D-64 | M81 2235 001 | a5 4 #F+% R I
D-65 | M81 2250 001 | 2744+ R I
D-66 | M81 2239 000 | 3574 #F2 R 1
D-67 | M81 2242 000 | #— b AR |
D-68 | M81 2243 000 | ##— b B-R |
D-69 | M40 6159 000 | TLFL— | A-R |
D-70 | M81 2249 000 | TLFL—L B-R 1 |
D-71 | 127 5723 000 | TLH A K 4
D-72 | 8MA 0009 000 | 7> ¥v T vy ave—2 |
D-73 | 8MA 4317 000 | PATHiEE~—2 1
D-74 | 8MA 3911 000 | KT rE—X—V D Uo—2 |




E. T XN)bbAN—BE

o |



E. T2 XN)bbhAN—EE
RES| a—FK&S S & % i Bt i
E- 1149 5411 000 | =¥ 7Vv—A 1
E- 2 | 9BT 0806 003 | Kb M8 = 60 ¢ 3
E- 3 | 9SW 0800 003 | 7SAhHH % M8 3
E- 4 [ ONT 0800 003 | +v b M8 3
/ E-5 (149 0811 001 | =¥ >F—V 1
E- 6| 149 0812 001 | x>rF7—V 1
E- 7 | 9BT 0801 203 | HEn b M8 x 12 ¢ 1
E- 8 | 9KY 0503 500 | ¥— 5x5%35¢ 1
E- 9| 149 5813 000 | =W hAHxZAHFZ7 1
E-10 | 9BT 0801 603 | K1 b M8 x 16 ¢ 2
E-11 | 9FW 0800 003 | ke ¥4 F M8 1
E-12 | 9SW 0800 003 | 7sfHH % M8 2
E-13 | 9VB 0390 003 | Vi b (AL rY) LB-39 1 | LB x39mt
E-14 | 149 5817 000 | #>¥a>7—2 (COM) 1
E-15 | M66 0825 000 | 7> =3>anm B-S 1
E-16 | 9RS 1200 005 | AFwF) > S-12 1
E-17 | 9BT 0601 603 | A b M6 x 16 ¢ 1
E-18 | 9SW 0600 003 | /s34 % M6 ]
E-19 | ONT 0600 003 | v b M6 1
E-20 | MI3 1754 000 | 7> 3> kwit)isp 1
E-21 | 149 0817 001 | ~b bk Ass— ]
E-22 | 8MA 0518 000 | A=K v F¥rv—7 1
E-23 | 149 5816 000 | W hAR— R Y)W AT — 1
E-24 | 9BT 0701 803 | A b M7x18¢ 2
E-25 | 9SW 0700 003 | 7844 A M7 2
E-26 | ONT 0700 003 | v b M7 2
E-27 | M26 0833 001 | /7 2
E-28 | GMI32LN-39B | =T >~ GM132LN-39B 1
E-29 | 9BT 0804 003 | A b M8 x 40 ¢ 2
E-30 | 9FW 0800 003 | k¥4 % M8 8
E-31 | 9NK 0800 053 | saxYFFw b M8 6
E-32 | 9BT 0805 003 | A b M8 x 50 ¢ 2
E-33 | 111 4815 000 | => o> A s— 1
E-34 | 9BT 0601 213 | K b M6 x 12 ¢ 2
E-35 | 9NK 0600 053 | sV FF+ v b M6 2
E-36 | 149 0951 000 | x4 b 1
E-37 | W40 5B05 035 | ¥— 5x5%35¢ 1
E-38 | W20 7H08 000 | 7w ¥ ¥ — 1
E-39 | BO8 0A08 160 | i b M8 x 16 ¢ 1
E-40 | MBI 0636 000 | v AT ¥—2 1




E. T AN)VbhAN—BEE




E. T

o

X)) b HAN—EE

A%ES| a—F&ES fih fi % PR B i
E-41 | 8MA 3219 000 |~V kA= —7Z 1
E-42 | M84 1417 000 | BZ~w 1 | MPC40SB
E-42 | 8MA 4316 000 | A¥—72 1 | MPC40SA
E-42 | 8MA 4315 000 | D¥—7 1 | MPC40SD
E-43 | 8MA 4318 000 | > TANVFv—2 1




F. En - EMEARF




F. B - EMREAR

RHES| a—K&S w  o®m B W 8 % &
F- 1| M40 5519 000 | €V > ” ] ? g, A
F-2 | 143 0659 000 | 7S5 AFw oy v Y > I - ASSY
F- 3 | 9BT 1206 503 | An b M12 x 65 ¢ 1 } ol 4633 002
F- 4 | 9NT 1200 003 | ¥ b MI2 |
F- 5 | M23 0619 001 | ¥ AV & v23— B 9
F- 6| 124 1620 000 | TASZY+VU> L 1
F-7 (124 1621 000 | TLS /% VY R 1

/' F- 8 | M40 1717 000 | £ > F—r34 7 9
F- 9 | M26 1111 000 | Y% o2 ¥ > 2
F-10 | 9RP 1023 000 | R¥ > 9




G-1. HHMADEFE AFAT
Col-#p2G-000  ¥HAY




A

G-1. #AZER (MPC-40S)

RUES | - F&S w & & W Wl | W =
G- 1 | 149 1217 000 |Fawavnyy (R) AN 1
G2 |149 1218 000 |Favavavy (L) WM 1
G-3 [RI4 0515000 |YXbUYsrKLE MO | . 12
G- 4 | ONT 1000 003 |7 v b MO | e, |12
G- 5 | 9SW 1000 003 | /S % M10 12
G-6 [M81 1116 000 |~ ¥¥2Ey (¥3%) 6
G-7 |9RP 1023 000 |REY 6
G-8 | 1491219 000 |Faw3avAy (R) 4H 1
G-9 | 149 1224 000 |4 ¥ F—F2—766 (R) 1
G-10 | 149 1220 000 | Fawauynwy (L) 4 1
G-11 | 149 1216 000 |4 ¥ F—F2—766 (L) 1
G-12 |R05 0311 000 |aA WYY X (FY¥vR) £FY 5
G-13 | R05 0312 000 |aA ¥y x (RHYYA) £FY 1
G-14 |RO5 0318 000 |aAwyvA (799vA) 3% ) | 5
G-15 | R05 0319 000 |IF WYY X (RHYYA) I¥ T

o).

Ilz{ik" 16412 A 20 BEEX




G-2. #2ARZRER

Col-4bzb-000  frnAK
/_

Tﬂﬁﬁﬁ
(L) (R)

11 8  h3vRIYyav 7

RO Iy TV 1Y
FT Ty YT




G-2. #2ANZEMR

RiEES| 3— K &S s @ B W s U
G-1|149 1214 000 | aw ¥y (R) MBI 1
;G-2| 149 1215 000 | 3w waws (R) SH \ cosrdore| 1 j
| G- 3| 149 1224 000 | A >»F—F2—766 (R) "'\ (7 & (150 ) 1 3
G- 4| 149 1216 000 | £ >F—F2—766 s 1
G- 5| M81 1116 000 | ¥+ 7> (N J 6
G- 6 | 9RP 1023 000 | RE¥> 10 6
G- 7 | M40 0532 000 | Fav IV A M5L 3 | PR
G- 8 | M40 0531 000 | FavayV A M5R 3 | Mt
G- 9 | M40 0533 000 | FxavyAwHY M5SR 1| rapuE e
G-10 | M40 0534 000 | F2w Ay ATHY M5SL 1| P
G-11 | R45 0652 000 | V24MRFX¥Y A R | 3 | ShEERA
G-12 | R45 0651 000 | V24MLFXY A L \ros wbsd oS0 3 | SR
G-13 | R45 0654 001 |V2BMRY# YUY A R )/, ¢\ 4 k) 1| ShpERfS
G-14 | R45 0653 000 | V24BMLw# YUY A L 7 1| ShoER et
G-15 | 145 2933 000 | A b 16
G-16 | 9SW 1000 003 | /SHH4 % M10 16
G-17 | 9NT 1000 003 |+ b M10 16
G-18 | 149 1221 000 | aw o>y (L) K 1
G-19 | 149 1222 000 | 3w w2y (L) M 1




G-3. IR RS LMEFE DYAT

A
REe




G-3. k& F S LR

AHER| I- &S wOR & B H ik W
G- 1153 0532 000 | 7Y AT KT L 35-L 1
G-2|153 0533 000 | 7Y HT KT L 35-R |
G- 3| 149 1225 000 | 4 >F—r34 7 2
G- 4 | M81 1116 000 | ¥+ Y2 ¥ (vaw) 2
G- 5 | 9RP 1023 000 | R¥> 2
G- 6 | M81 0719 000 | +& ¥ 2 MBIL 7
G- 7 | M81 0739 000 | % A M8IR 7
G- 8 | R4 0515 000 | WA MY WHHL b 14
G- 9 | 9SW 1000 003 | 7$34 3 M10 14
G-10 | 9NT 1000 003 | Fv b M10 14
G-11 | M81 2456 000 | K LMY V¥ 2
G-12 | M81 2457 000 | RE> 2




H. (YEmB&

[ 5

2

[

8




H. (JEmEAR

AHER| a—F &S 1 i # PR g i
H- 1| M40 4412 001 | Ry Z Av 5 17 1
H- 2 | M81 1116 000 | ¥ > Z ¥ (/)N 2
H- 3 | 9RP 1023 003 | RE - 10 2
H- 4| 149 1314 000 | R>F MU TV A4V AL >3 1
H-5 (111 1530 000 | a9 &7 2o 2
H- 6 DOFFA 38— 1
H-7 Ay 7 ARISF 19 (170 ¢) 1 }J‘_‘/‘/z
H- 8 IRV T4 A4 a3 1

s 0 |




